

Article ID: 1000-5641(2012)01-0113-08

# Oscillations of a class of third order nonlinear neutral functional differential equations

HAN Zhong-yue

(Department of Mathematics, Dezhou University, Dezhou Shandong 253023, China)

**Abstract:** The oscillations of a class of third order nonlinear neutral functional differential equations was discussed, by using the generalized Riccati transformation and the integral averaging technique; and some new sufficient conditions for oscillations or tends to zero of all solutions of the equations were obtained. The example to illustrate the main results were given. The results extend and improve some known results.

**Key words:** third order neutral differential equation; oscillation criteria; Kamenev type; Philos type

**CLC number:** O175.13    **Document code:** A

**DOI:** 10.3969/j.issn.1000-5641.2012.01.015

## 三阶非线性中立型泛函微分方程的振动性

韩忠月

(德州学院 数学系, 山东 德州 253023)

**摘要:** 利用广义 Riccati 变换和积分平均技巧, 研究一类三阶中立型泛函微分方程的振动性质, 建立了保证此方程一切解振动或者收敛于零的若干新的充分条件, 推广和改进了一些已有结果, 并给出了应用实例.

**关键词:** 三阶中立型微分方程; 振动准则; Kamenev 型; Philos 型

## 0 Introduction

Recently, the oscillatory behavior of solutions of third order functional differential equations has attracted many researchers. For recent results we refer the reader in particular to [1-5] and the references cited therein. We know that neutral differential equations have applications in many problems such as the vibrating masses attached to an elastic bar and some variational problems (see [6]). Theoretically, the oscillation analysis of neutral equations are more complicated than that of delay equations (of [7-9]). In this paper, we study the oscillatory behavior of solutions of the third order neutral differential equation

$$(r(t)[x(t) + p(t)x(\tau(t))]''')' + q(t)f(x(\sigma(t)))g(x'(t)) = 0, \quad t > t_0. \quad (\text{E})$$

收稿日期: 2011-03

作者简介: 韩忠月, 女, 教授, 主要从事方程的定性理论研究.

Throughout this paper, we always assume that

- (H<sub>1</sub>)  $r(t), q(t) \in \mathbf{C}([t_0, \infty), (0, \infty))$ ,  $\int_{t_0}^{\infty} \frac{1}{r(t)} dt = \infty$ ;  
 (H<sub>2</sub>)  $p(t) \in \mathbf{C}([t_0, \infty))$ ,  $0 \leq p(t) \leq p < 1$ ;  
 (H<sub>3</sub>)  $\tau(t), \sigma(t) \in \mathbf{C}([t_0, \infty), (0, \infty))$ ,  $\tau(t) \leq t$ ,  $\sigma(t) \leq t$ ,  $\lim_{t \rightarrow \infty} \tau(t) = \lim_{t \rightarrow \infty} \sigma(t) = \infty$ ;  
 (H<sub>4</sub>)  $f \in \mathbf{C}(\mathbf{R}, \mathbf{R})$ ,  $\frac{f(u)}{u} \geq K > 0$ ,  $u \neq 0$ ;  
 (H<sub>5</sub>)  $g \in \mathbf{C}(\mathbf{R}, [L, \infty))$ ,  $L > 0$ .

For the equation (E), corresponding second order neutral differential equation, namely

$$(r(t)[x(t) + p(t)x(\tau(t))]')' + q(t)f(x(\sigma(t)))g(x'(t)) = 0, \quad t > t_0, \quad (\text{E}_1)$$

has been considered by Yang and Zhu in [10]. Corresponding second order delay differential equation, namely

$$x''(t) + q(t)f(x(\sigma(t)))g(x'(t)) = 0, \quad t > t_0, \quad (\text{E}_2)$$

has been also considered by Rogovchenko in [11]. In this paper, our aim is to study the third order neutral equation (E), which have not been considered yet in the literature, and establish the oscillation criteria which extend and improve the results in [11,12].

We put  $y(t) = x(t) + p(t)x(\tau(t))$ . By a solution of the Eq. (E) we mean a function  $x(t) \in \mathbf{C}^1[T_x, \infty)$ ,  $T_x \geq t_0$ , which has the property  $r(t)y''(t) \in \mathbf{C}^1[T_x, \infty)$  and satisfies Eq. (E) on  $[T_x, \infty)$ . We consider only those solution  $x(t)$  of (E) which satisfy  $\sup\{|x(t)| : t \geq T\} > 0$  for all  $T \geq T_x$ . We assume that (E) possesses such a solution. A solution of (E) is called oscillatory if it has arbitrarily large zeros on  $[T_x, \infty)$  and otherwise it is called nonoscillatory.

## 1 Main results

Before starting our main results, we begin with the following lemmas which will play an important role in the proof of main results.

**Lemma 1**<sup>[11]</sup> Assume that  $u(t) > 0$ ,  $u'(t) > 0$ ,  $u''(t) \leq 0$ ,  $t \geq t_0$ , then for every  $\alpha \in (0, 1)$ , there exists  $T_\alpha \geq t_0$ , such that  $u(\sigma(t)) \geq \alpha \frac{\sigma(t)}{t} u(t)$ ,  $t > T_\alpha$ .

**Lemma 2** Assume that  $u(t) > 0$ ,  $u'(t) > 0$ ,  $u''(t) > 0$ ,  $u'''(t) \leq 0$ ,  $t > T_\alpha$ , then there exist  $\beta \in (0, 1)$ , and  $T_\beta > T_\alpha$ , such that

$$u(t) \geq \beta t u'(t), \quad t > T_\beta. \quad (1)$$

**Proof** Set  $y(t) = (t - T_\alpha)u(t) - \frac{1}{2}(t - T_\alpha)^2 u'(t)$ ,  $t \geq T_\alpha$ . Then  $y(T_\alpha) = 0$ , and

$$y'(t) = u(t) - \frac{1}{2}(t - T_\alpha)^2 u''(t). \quad (2)$$

We claim that  $y'(t) > 0$ . In fact, since  $u''$  is nonincreasing, by Taylor's theorem, we get

$$u(t) \geq u(T_\alpha) + (t - T_\alpha)u'(T_\alpha) + \frac{1}{2}(t - T_\alpha)^2 u''(t).$$

This implies that  $y'(t) \geq u(T_\alpha) + (t - T_\alpha)u'(T_\alpha) > 0$ . Since  $y(T_\alpha) = 0$ , we have  $y(t) \geq 0$  for  $t \geq T_\alpha$ , i.e.  $u(t) \geq \frac{t - T_\alpha}{2} u'(t)$ ,  $t \geq T_\alpha$ . So there exist  $\beta \in (0, 1)$  and  $T_\beta > T_\alpha$ , such that (1) holds. The proof is complete.

**Lemma 3** Assume that  $x(t)$  is an eventually positive solution of equation (E). Define the function

$$y(t) = x(t) + p(t)x(\tau(t)). \quad (3)$$

Then for  $t \geq T \geq t_0$  sufficiently large, (A)  $y(t) > 0$ ,  $y'(t) > 0$ ,  $y''(t) > 0$ , or (B)  $y(t) > 0$ ,  $y'(t) < 0$ ,  $y''(t) > 0$ .

**Proof** Let  $x(t)$  is an eventually positive solution of equation (E). Then there exists  $t_1 \geq t_0$ , such that  $x(t) > 0$ ,  $x(\tau(t)) > 0$ ,  $x(\sigma(t)) > 0$ ,  $t \geq t_1$ . It is easy to see that  $y(t) > x(t) > 0$ , and  $(r(t)y''(t))' = -q(t)f(x[\sigma(t)])g(x'(t)) < 0$ ,  $t \geq t_1$ . Then  $r(t)y''(t)$  is a nonincreasing function for  $t \geq t_1$  and of a constant sign. Thus there exists  $t_2 \geq t_1$ , such that  $y''(t) < 0$  or  $y''(t) > 0$ ,  $t \geq t_2$ .

Now, we assume that  $y''(t) < 0$ , then there exists constant  $M > 0$ , such that

$$r(t)y''(t) \leq -M < 0, \quad t \geq t_2. \quad (4)$$

Integrating (4) over  $[t_2, t]$ , we get

$$y'(t) \leq y'(t_2) - M \int_{t_2}^t \frac{1}{r(s)} ds.$$

Letting  $t \rightarrow \infty$  in the above. From the condition  $(H_1)$  we get  $y'(t) \rightarrow \infty$ , i.e.  $y'(t)$  is eventually negative. But  $y''(t) < 0$  and  $y'(t) < 0$  holds eventually, thus, there exists a  $T \geq t_2$ , such that  $y(t) < 0$  for  $t \geq T$ . This contradicts with the fact that  $y(t) > 0$ . Then  $y''(t) > 0$ . The proof is complete.

**Lemma 4** Let  $x(t)$  be a positive solution of equation (E) and the corresponding  $y(t)$  satisfies (B). If

$$\int_{t_0}^{\infty} \int_v^{\infty} \left( \frac{1}{r(u)} \int_u^{\infty} q(s) ds \right) dudv = \infty. \quad (5)$$

Then  $\lim_{t \rightarrow \infty} x(t) = \lim_{t \rightarrow \infty} y(t) = 0$ .

**Proof** Suppose that  $x(t)$  is a positive solution of equation (E), and that  $y(t)$  satisfy (B), i.e.,  $y(t) > 0$ ,  $y'(t) < 0$ ,  $t \geq T \geq t_0$ . So there exists constant  $l \geq 0$ , such that  $\lim_{t \rightarrow \infty} y(t) = l$ . Now we claim that  $l = 0$ . In fact, if  $l > 0$ , then for every  $\varepsilon > 0$ , there exists  $t_1 \geq T$ , such that  $l < y(t) < l + \varepsilon$ ,  $t \geq t_1$ . We can choose  $0 < \varepsilon < \frac{l(1-p)}{p}$ , we obtain

$$x(t) = y(t) - p(t)x(\tau(t)) > l - py(\tau(t)) > l - p(l + \varepsilon). \quad (6)$$

Let  $m = \frac{l-p(l+\varepsilon)}{l+\varepsilon}$ , then  $m > 0$ . From (6) we have

$$x(t) > m(l + \varepsilon) > my(t). \quad (7)$$

Combining  $(H_4)$ ,  $(H_5)$ , (7) and (E), yields

$$(r(t)y''(t))' + K L m q(t)y(\sigma(t)) \leq 0, \quad t \geq t_1. \quad (8)$$

Integrating (8) from  $t$  to  $\infty$ , we obtain

$$-r(t)y''(t) + K L m \int_t^{\infty} q(s)y(\sigma(s)) ds \leq 0.$$

Noting that  $y(\sigma(t)) > l$ ,  $t \geq t_2 \geq t_1$ , we get

$$-y''(t) + \frac{KLlm}{r(t)} \int_t^\infty q(s)ds \leq 0, \quad t \geq t_2. \quad (9)$$

Integrating (9) from  $t$  to  $\infty$  again, we have

$$y'(t) + KLlm \int_t^\infty \left( \frac{1}{r(u)} \int_u^\infty q(s)ds \right) du \leq 0. \quad (10)$$

Integrating (10) from  $t_2$  to  $\infty$ , we obtain

$$\int_{t_2}^\infty \int_v^\infty \left( \frac{1}{r(u)} \int_u^\infty q(s)ds \right) dudv \leq \frac{y(t_2)}{KLml}. \quad (11)$$

This contradicts (5). Then  $l = 0$ . Since  $0 < x(t) \leq y(t)$  implies  $\lim_{t \rightarrow \infty} x(t) = 0$ . The proof is complete.

We now present some new oscillation results for equation (E) by using integral averages condition of Kamenev-type.

**Theorem 1** Suppose  $n > 1$  and that (5) holds. If there exists a function  $\rho \in C^1([t_0, \infty), (0, \infty))$  such that

$$\limsup_{t \rightarrow \infty} \frac{1}{t^n} \int_{t_0}^t (t-s)^n \left[ \rho(s)Q(s) - \frac{(\rho'(s))^2 r(s)}{4\rho(s)} \right] ds = \infty, \quad (12)$$

where

$$Q(s) = \alpha\beta KL(1-p) \frac{\sigma^2(s)}{s} q(s), \quad (13)$$

$\alpha$  and  $\beta$  are defined by Lemmas 1 and 2. Then every solution  $x(t)$  of equation (E) is oscillatory or  $\lim_{t \rightarrow \infty} x(t) = 0$ .

**Proof** Assume that (E) has a nonoscillatory solution  $x(t)$ . Without loss of generality, we may assume that  $x(t) > 0$ ,  $x(\tau(t)) > 0$  and  $x(\sigma(t)) > 0$  for  $t \geq t_1 \geq \max\{T, T_\beta\}$ . Since the proof for the case  $x(t) < 0$  for  $t \geq t_1 \geq \max\{T, T_\beta\}$  is similar. Define the function  $y(t)$  as in (3). From Lemma 3, there are two possible cases.

First consider that  $y(t)$  is (A) type. Note that  $x(t) = y(t) - p(t)x(\tau(t)) \geq y(t) - py(\tau(t)) \geq (1-p)y(t)$ . From  $(H_4)$ ,  $(H_5)$  and (E), we get

$$(r(t)y''(t))' + KL(1-p)q(t)y(\sigma(t)) \leq 0, \quad t \geq t_1. \quad (14)$$

Let

$$w(t) = \rho(t) \frac{r(t)y''(t)}{y'(t)}, \quad t \geq t_1. \quad (15)$$

Then

$$w'(t) \leq -\frac{KL(1-p)\rho(t)q(t)y(\sigma(t))}{y'(t)} + \frac{\rho'(t)}{\rho(t)}w(t) - \frac{w^2(t)}{\rho(t)r(t)}. \quad (16)$$

From Lemma 1 and Lemma 2, for  $t \geq t_1$ , we have

$$w'(t) \leq -\rho(t)Q(t) - \left[ \frac{w(t)}{\sqrt{\rho(t)r(t)}} - \frac{1}{2} \sqrt{\frac{r(t)}{\rho(t)}} \rho'(t) \right]^2 + \frac{(\rho'(t))^2 r(t)}{4\rho(t)} \leq -\left[ \rho(t)Q(t) - \frac{(\rho'(t))^2 r(t)}{4\rho(t)} \right].$$

Where  $Q(t)$  is as in (13). Thus

$$\int_{t_1}^t (t-s)^n \left[ \rho(s)Q(s) - \frac{(\rho'(s))^2 r(s)}{4\rho(s)} \right] ds \leq - \int_{t_1}^t (t-s)^n w'(s) ds, \quad t \geq t_1.$$

Noting that

$$\int_{t_1}^t (t-s)^n w'(s) ds = n \int_{t_1}^t (t-s)^{n-1} w(s) ds - w(t_1)(t-t_1)^n,$$

we have

$$\frac{1}{t^n} \int_{t_1}^t (t-s)^n G(s) ds \leq w(t_1) \left( 1 - \frac{t_1}{t} \right)^n - \frac{n}{t^n} \int_{t_1}^t (t-s)^{n-1} w(s) ds,$$

where  $G(s) = \rho(s)Q(s) - \frac{(\rho'(s))^2 r(s)}{4\rho(s)}$ . Thus

$$\limsup_{t \rightarrow \infty} \frac{1}{t^n} \int_{t_1}^t (t-s)^n G(s) ds < \infty,$$

which contradicts (12). If that  $y(t)$  is (B) type. From Lemma 4 we have  $\lim_{t \rightarrow \infty} x(t) = \lim_{t \rightarrow \infty} y(t) = 0$ . The proof is complete.

Next we present some new oscillatory criteria for equation (E) by using the integral averaging condition of Philos-type. So we introduce a class of functions P. Let

$$D = \{(t, s) : t \geq s \geq t_0\}, \quad D_0 = \{(t, s) : t > s \geq t_0\}.$$

We say that a function  $H \in C(D, \mathbf{R})$  belongs to a function class P, denoted by  $H \in P$ , if it satisfies

- (i)  $H(t, t) = 0, t \geq t_0; H(t, s) > 0, (t, s) \in D_0$ ;
- (ii)  $H$  has a continuous and nonpositive partial derivative on  $D_0$  with respect to the second variable, and such that  $-\frac{\partial H(t,s)}{\partial s} = h(t, s)\sqrt{H(t, s)}, (t, s) \in D_0$ .

**Theorem 2** Assume that (5) holds, and there exist functions  $H \in P$  and  $\rho \in C^1([t_0, \infty), (0, \infty))$  such that

$$\limsup_{t \rightarrow \infty} \frac{1}{H(t, t_0)} \int_{t_0}^t \left[ H(t, s)\rho(s)Q(s) - \frac{1}{4}\rho(s)r(s)h_1^2(t, s) \right] ds = \infty, \tag{17}$$

where  $Q(s)$  is as in (13), and

$$h_1(t, s) = h(t, s) - \frac{\rho'(s)}{\rho(s)}\sqrt{H(t, s)}. \tag{18}$$

Then every solution  $x(t)$  of equation (E) is oscillatory or  $\lim_{t \rightarrow \infty} x(t) = 0$ .

**Proof** Assume that (E) has a nonoscillatory solution  $x(t)$ . As the proof of Theorem 1, we may assume that  $x(t) > 0, x(\tau(t)) > 0$  and  $x(\sigma(t)) > 0$  for  $t \geq t_1 \geq t_\beta$ . Define the function  $y(t)$  as in (3). There are two types: (A) type or (B) type.

First consider that  $y(t)$  is (A) type. Define the function  $w(t)$  as in (15). Then  $w(t) > 0$  and (16) holds. From Lemma 1 and 2, we obtain

$$w'(t) \leq -\rho(t)Q(t) + \frac{\rho'(t)}{\rho(t)}w(t) - \frac{1}{\rho(t)r(t)}w^2(t), \tag{19}$$

where  $Q(s)$  is as in (13). Let  $A(t) = \frac{\rho'(t)}{\rho(t)}$ ,  $B(t) = \frac{1}{\rho(t)r(t)}$ , we have

$$\begin{aligned} & \int_{t_1}^t H(t, s)\rho(s)Q(s)ds \leq \int_{t_1}^t H(t, s)[-w'(s) + A(s)w(s) - B(s)w^2(s)]ds \\ & = -H(t, s)w(s)|_{t_1}^t + \int_{t_1}^t \left\{ \frac{\partial H(t, s)}{\partial s}w(s) + H(t, s)[A(s)w(s) - B(s)w^2(s)] \right\} ds \\ & = H(t, t_1)w(t_1) - \int_{t_1}^t [\sqrt{H(t, s)}h_1(t, s)w(s) + H(t, s)B(s)w^2(s)]ds \\ & = H(t, t_1)w(t_1) - \int_{t_1}^t \left[ \sqrt{H(t, s)B(s)}w(s) + \frac{1}{2} \frac{h_1(t, s)}{\sqrt{B(s)}} \right]^2 ds + \int_{t_1}^t \frac{h_1^2(t, s)}{4B(s)} ds, \end{aligned} \quad (20)$$

where  $h_1(t, s)$  is as in (18). Thus

$$\frac{1}{H(t, t_1)} \int_{t_1}^t \left[ H(t, s)\rho(s)Q(s) - \frac{h_1^2(t, s)}{4B(s)} \right] ds \leq w(t_1),$$

which contradicts condition (17).

Next, if that  $y(t)$  is (B) type. From Lemma 4 we have  $\lim_{t \rightarrow \infty} x(t) = \lim_{t \rightarrow \infty} y(t) = 0$ . The proof is complete.

**Remark 1** Theorem 3 in [11] and Theorem 1 in [12] are extended to third order neutral equation (E) by above Theorem 2.

In Theorem 2, when (17) is difficult to verify, we have the following Theorem.

**Theorem 3** Let all the assumption, except (17), of Theorem 2 hold. Further, let

$$0 < \inf_{s \geq T} \left[ \liminf_{t \rightarrow \infty} \frac{H(t, s)}{H(t, T)} \right] \leq \infty, \quad (21)$$

and

$$\limsup_{t \rightarrow \infty} \frac{1}{H(t, T)} \int_T^t \rho(s)r(s)h_1^2(t, s)ds < \infty. \quad (22)$$

Let  $\varphi \in \mathbf{C}([t_0, \infty), \mathbf{R})$  such that

$$\int_T^\infty \frac{\varphi_+^2(s)}{\rho(s)r(s)} ds = \infty, \quad \varphi_+(t) = \max\{\varphi(t), 0\}, \quad (23)$$

and

$$\limsup_{t \rightarrow \infty} \frac{1}{H(t, T)} \int_T^t \left[ H(t, s)\rho(s)Q(s) - \frac{1}{4}\rho(s)r(s)h_1^2(t, s) \right] ds \geq \varphi(T). \quad (24)$$

Then every solution  $x(t)$  of equation (E) is oscillatory or  $\lim_{t \rightarrow \infty} x(t) = 0$ .

**Proof** It is the same with Theorem 2. When that  $y(t)$  is (A) type, we have (2.15) holds. Thus for every  $T > t_1$ , we have

$$\begin{aligned} & \limsup_{t \rightarrow \infty} \frac{1}{H(t, T)} \int_T^t \left[ H(t, s)\rho(s)Q(s) - \frac{1}{4}\rho(s)r(s)h_1^2(t, s) \right] ds \\ & \leq w(T) - \liminf_{t \rightarrow \infty} \frac{1}{H(t, T)} \int_T^t \left[ \sqrt{H(t, s)B(s)}w(s) + \frac{h_1(t, s)}{2\sqrt{B(s)}} \right]^2 ds. \end{aligned}$$

Using (24), we obtain

$$w(T) \geq \varphi(T) + \liminf_{t \rightarrow \infty} \frac{1}{H(t, T)} \int_T^t \left[ \sqrt{H(t, s)B(s)}w(s) + \frac{h_1(t, s)}{2\sqrt{B(s)}} \right]^2 ds,$$

thus

$$\liminf_{t \rightarrow \infty} \frac{1}{H(t, T)} \int_T^t \left[ \sqrt{H(t, s)B(s)}w(s) + \frac{h_1(t, s)}{2\sqrt{B(s)}} \right]^2 ds < \infty. \tag{25}$$

Define

$$u(t) = \frac{1}{H(t, T)} \int_T^t H(t, s)B(s)w^2(s)ds, \quad v(t) = \frac{1}{H(t, T)} \int_T^t \sqrt{H(t, s)}h_1(t, s)w(s)ds.$$

From (25), we get  $\liminf_{t \rightarrow \infty} [u(t) + v(t)] < \infty$ .

When  $y(t)$  is (A) type, the rest of the proof is similar to that of Theorem the respective one in [9,10]. When  $y(t)$  is (B) type. From Lemma 4 we have  $\lim_{t \rightarrow \infty} x(t) = \lim_{t \rightarrow \infty} y(t) = 0$ . The proof is complete.

**Example 1** Consider the third order nonlinear neutral differential equation

$$\begin{aligned} & \left( (t+1)^{-r} \left[ x(t) + \frac{1}{3}x\left(t - \frac{1}{2}\right) \right] \right)' + t^\lambda \left( \lambda \frac{2 - \cos t}{t} \right. \\ & \left. + (2 + \sin t) \right) x(t-1)(1+x^2(t-1))(1+(x'(t))^2) = 0, \text{ for } t \geq 1. \end{aligned} \tag{E_0}$$

Where  $r$  and  $\lambda$  are positive constants. Here  $r(t) = (t+1)^{-r}$ ,  $p(t) = \frac{1}{3}$ ,  $\tau(t) = t - \frac{1}{2}$ ,  $f(u) = u(1+u^2)$ ,  $q(t) = t^\lambda(\lambda \frac{2-\cos t}{t} + (2 + \sin t))$ , with  $K = 1$ ,  $\sigma(t) = t - 1$ ,  $g(v) = 1 + v^2$ , with  $L = 1$ . We have

$$\int_1^\infty \frac{1}{r(s)} ds = \infty, \tag{26}$$

also,

$$\begin{aligned} \int_{t_0}^t q(s)ds &= \int_{t_0}^t s^\lambda \left( \lambda \frac{2 - \cos s}{s} + (2 + \sin s) \right) ds \geq \int_{t_0}^t s^\lambda \left( \lambda \frac{2 - \cos s}{s} + \sin s \right) ds \\ &= \int_{t_0}^t d[s^\lambda(2 - \cos s)] = t^\lambda(2 - \cos t) - t_0^\lambda(2 - \cos t_0) \geq t^\lambda - k_0 \rightarrow \infty, \text{ as } t \rightarrow \infty. \end{aligned} \tag{27}$$

From (26) and (27) we see that  $(H_1) - (H_5)$  and (5) hold. To apply Theorem 2, it remains to satisfy the condition (17). Taking  $H(t, s) = (t - s)^2$ ,  $\rho(t) = 1$ , then  $h_1(t, s) = h(t, s) = 2$ , and

$$\limsup_{t \rightarrow \infty} \frac{1}{H(t, t_0)} \int_{t_0}^t \rho(s)r(s)h_1^2(t, s)ds < \infty.$$

From (13) we have  $Q(t) = \alpha\beta KL(1-p)\frac{\sigma^2(t)}{t}q(t) = \frac{2\alpha\beta}{3}\frac{(t-1)^2}{t}q(t)$ , then there is a  $T > 1$  sufficient large such that  $Q(t) \geq q(t)$  for  $t \geq T$ . For  $t \geq s \geq T$ , we have

$$\begin{aligned} \frac{1}{t^2} \int_T^t (t-s)^2 Q(s)ds &\geq \frac{1}{t^2} \int_T^t (t-s)^2 q(s)ds = \frac{1}{t^2} \int_T^t \left[ 2(t-s) \left( \int_{t_0}^s q(u)du \right) \right] ds \\ &\geq \frac{2}{t^2} \int_T^t (t-s)(s^\lambda - k_0)ds = \frac{2}{(\lambda+1)(\lambda+2)} t^\lambda + \frac{K_1}{t^2} + \frac{K_2}{t} - K_0, \end{aligned}$$

where  $K_i$  ( $i = 0, 1, 2$ ) are constants. Consequently, condition (17) is satisfied. It is easy to see that the condition (5) is satisfied. Hence, every solution of equation ( $E_0$ ) oscillates or converges to zero.

### [ References ]

- [ 1 ] AKTAS M F, TIRYAKI A, ZAFER A. Oscillations criteria for third order nonlinear functional differential equation[J]. Appl Math Letters, 2010, 23: 756-762.
- [ 2 ] DAHIYA R S, ZAFER A. Oscillatory and asymptotic behavior of solutions of third order delay differential equations with forcing terms[J]. Differential Equations Dynam Syst, 1993(1): 123-136.
- [ 3 ] DZURINA J. Asymptotic properties of third order delay differential equations[J]. Czech Math J, 1995, 45: 443-448.
- [ 4 ] DZURINA J. Asymptotic properties of the third order delay differential equations[J]. Nonlinear Anal TMA, 1996, 26: 33-43.
- [ 5 ] GRACE S R, AGARWAL R P, PAVANI R, THANDAPANI E. On the oscillation of certain third order nonlinear functional differential equations[J]. Appl Math Comput, 2008, 202: 102-112.
- [ 6 ] AGARWAL R P, GRACE S R, O'REGAN D. Oscillation Theory for Difference and Functional Differential Equations[M]. Dordrecht: Kluwer, 2000.
- [ 7 ] ERBE L H, KONG Q, ZHANG B G. Oscillation Theory for Functional Differential Equations[M]. New York: Marcel Dekker, 1995.
- [ 8 ] GYÖRI I, LADAS G. Oscillation Theory of Delay Differential Equations with Applications[M]. Oxford: Oxford University Press, 1991.
- [ 9 ] HALE J K. Theory of Functional Differential Equations[M]. New York: Springer-Verlag, 1977.
- [ 10 ] YANG Q G, ZHU S M. On Oscillation of Second Order Nonlinear Delay Neutral Differential Equations[J]. J Syst Sci Complex, 2003, 23(4): 482-490 (in Chinese).
- [ 11 ] ROGOVCHENKO Y V. Oscillation criteria for certain nonlinear differential equations[J]. J Math Anal Appl, 1999, 229: 399-416.
- [ 12 ] RUAN S G. Oscillation of second order neutral differential equations[J]. Canad Math Bull, 1993, 36(4): 485-496.

(上接第 112 页)

### [ 参 考 文 献 ]

- [ 1 ] ANSARI S I. Hypercyclic and cyclic vectors[J]. J Funct Anal, 1995, 128: 374-383.
- [ 2 ] BAYART F, MATHERON E. Dynamics of linear operators[M]. Cambridge: Cambridge University Press, 2009.
- [ 3 ] ROLEWICZ S. On orbits of elements[J]. Studia Math, 1969, 32: 17-22.
- [ 4 ] YOUSEFI B, REZAEI H. On the supercyclicity and hypercyclicity of the operator Algebra[J]. Acta Mathematica Sinica, English Series, 2008, 24(7): 1221-1232.
- [ 5 ] BOURDON P S, FELDMAN N S. Somewhere dense orbits are everywhere dense[J]. Indiana Univ Math, 2003, 52: 811-819.
- [ 6 ] MADORE B F, MARTINEZ-AVENDANO R A. Subspace-hypercyclicity[J]. J Math Anal Appl, 2011, 373: 502-511.
- [ 7 ] KITAL C. Invariant closed sets for linear operators[D]. Toronto: Univ of Toronto, 1982.
- [ 8 ] ARON R, BES J, LEON F, PERIS A. Operators with common hypercyclic subspace [J]. Operator Theory, 2005, 54(2): 251-260.
- [ 9 ] BAYART F. Common hypercyclic vectors for composition operators[J]. Operator Theory, 2004, 54: 353-370.
- [ 10 ] BAYART F, MATHERON E. How to get common universal vectors[J]. Indiana Univ Math, 2007, 56: 553-580.
- [ 11 ] CHAN K, SANDERS R. Common supercyclic vectors for a path of operators[J]. J Math Anal Appl, 2008, 337: 646-658.
- [ 12 ] CHAN K, SANDERS R. Two criteria for a path of operators to have common hypercyclic vectors[J]. Operator Theory, 2009, 61(1): 191-233.
- [ 13 ] SALAS H N. Hypercyclic weighted shifts[J]. Trans Amer Math Soc, 1995, 347(3): 993-1004.
- [ 14 ] SALAS H N. Supercyclicity and weighted shifts[J]. Studia Math, 1999, 135(1): 55-74.